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a[n] b[n] a[1] b[1] a[0] b[O]
! ! !

! ! !

C[n]{———-r c[n-1] C[l]{———] c[O]{———-ll .

_T_J — _T_J
l i) i)
s[n] s[1] s[ O]
c[n-1] a[n] b[n] | c[n] s[n] c[ n-1]
.................. N (carry)
0 O 0! 0 O
0 o 1!' o0 1
0 1 0! 0 1
0 1 1!' 1 0
1 o 0! 0 1
1 o 1! 1 o0
1 1 0! 1 0
1 1 1! 1 1



PC (Program Qount er)

PC offset

QC (Mndi ti on de Register)

ac
SH. (Sel ector)
32 32
ac
| Sel ect or
sl sably
ar———- ------- +--
PC offset —— - _ 000; 0
y y =sa| sb 001} 0
2 |-+ 010! 1
b 011! 1
PC - 100} 0
L—— 101! 1
) 110} 0
et 111! 1
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N={ S

T={ a

P=/{
S
G
B
B
aD
AD
akE
AE

-> ACaB,
-> aaCG
-> [B
-> F
-> Dy,
-> AC
-> B,
-> €

(phrase structure grammar)

A B G D E}
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ACaB
Aaa(B
AaalB
AaDaB
ADnaB
ACaaB
AaaCaB
Aaaaa(B
AaaaalB
AaaalaB
AaalDaaB
AaDaaaB

[1] S - ACaB
[2] G - aaC
[3] B - [B
[5] aD - Da
[5] aD - Da
[6] AD - AC
[2] G - aaC
[2] G - aaC
[3] B - [B
[5] aD - Da
[5] aD - Da
[5] aD - Da

b S A A A

!

!

ADnaaaB
ACaaaaB
AaaCaaaB
AaaaaCaaB
AaaaaaaCaB
Aaaaaaaaa(B
Aaaaaaaaak
Aaaaaaaaka
Aaaaaaakaa

AaEaaaaaaa

[5]
[6]
[2]
[2]
[2]
[2]

[ 7]
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(context sensitive grammar)

-- a**n b**n c**n (a**n a n
S B}
a b, c}

S -> aB%,
S -> abc,

Ba -> aB
Bb -> bb
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(context free grammar)

a**n b**n (a**n a n )

QJW-‘

D, S->ab}
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(regular grammar)

-> a -> a ( -> a
a
a**m b**n (a**n a n )
A}
b}
->aS S->aA A->bA A->Db}

. S



- (how) o (what)




o A XM | MN
X,Y,... M,N,...

XY, .

B -redex
B -redex
(A Xx.M)N




(Turi ng- Conpl et )

Y- Gonbi nat or ( ) -
true Atf.t
false A tf.f
i f A PXy. pxy
and A pg. pg<f al se> Sfalse> A tf.f
or A pg. p<true>q
not A p. p<fal se>t rue>
0 A sz.z
1 A Ssz.sz
2 A sz.5s(sz)
3 A sz.s(s(sz))
succ A nsz. s(nsz)
pl us A mnsz. ns( nsz)
Y Af.(A X F(XX)) (A X f(xx))

YTuring (A xf.f(xxf)) (A xf.f(xxf))



pl us

<nane>

A mmsz. ns(nsz)

A sz.s(sz)

A sz.s(s(sz))

A sz.s(s(s(s(sz))))

<pl us><3>=<2> -, <G>

<pl us><3><2> <XXX>

L

(A mnsz. n8(nsz)) (A sz.s(s(sz))) (A sz.s(sz))
(A nsz. (A sz.s(s(sz)))s(nsz)) (A sz.s(sz))
A sz. (A sz.s(s(sz)))s((A sz.s(sz))sz)

A sz.s(s(s((A sz.s(sz))sz)))
A sz.s(s(s((A z.s(sz))2)))
A sz.s(s(s(s(s2))))




<nange>

i f A pXxy. pxy i szero Ann(Ax. (Atf.f))(Atf.t)

mul t A mms. n{ns) pred A nsz.n(A gh.h(gs)) (A u.z)(A u.u)
1 A sz.sz 4 A sz.s(s(s(sz)))

Y Afo(A X F(xx)) (A x.f(xx))

fact (A fx. < f>(<i szero>x) <1>(<mul t >x(f (<pred>x)))) <XXX>

<Y><f act ><4>
(
(Ao (A X F(xX)) (A x.f(xx))) -- <>
(
A fX. (A pxy. pxy) -- Afx.<if>
((A n.n(A x.(Atf.f))(Atf.t))x) -- <iszero>x
(A sz.sz) -- <>
(
(A nms. n{ns)) -- <mul t>
X -- X
(f((A nsz.n(A gh.h(gs))(A u.2)(A u.u))x)) -- f(<pred>x)
)
; )
(A sz.s(s(s(sz)))) <4>

- A sz. S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(S(SZ)))))))))))))))))))))))
4068 step(s) [9. 960ns]



(A m.mn)3 - A n 3N

+ 3

A M. N A n. 3H
(A M. M) 3
<pl us>3> <XXX>

(A msz. ns(nsz)) (A sz.s(s(sz)))
A nsz. (A sz.s(s(sz)))s(nsz)

A nsz. (A z.s(s(sz)))(nsz)

A nsz.s(s(s(nsz)))

A n. 3+

(An3m)2 - 5

(A n.3+) 2

(A nsz.s(s(s(nsz)))) (A sz.s(sz))
A sz.s(s(s((A sz.s(sz))sz)))

A sz.s(s(s((A z.s(sz))2)))

A sz.s(s(s(s(sz))))

5



f g A fox. g(fx)

(A fox.g(fx)) (A xX. 1) (A X. 2*X) - A X. 2*(1+x)
. + * 1,2

(A fogx.g(fx)) (A x. 1#x) (A X. 2*Xx)
(A fogx.g(fx)) (<pl us><1>) (<mul t ><2>) <XXX>
(A fogx.g(fx)) ((A nmsz. ns(nsz)) (A sz.sz)) ((A nms. n{ns)) (A sz.s(sz)))
(A gx. g(((A mmsz. ns(nsz))A sz.sz)x)) ((A mms. n{ns)) A sz.s(sz))
A X. ((A nmms.nf{ns))A sz.s(sz))(((A nmsz. ns(nsz))A sz.sz)X)
C )
A xsz.s(xs((A z.sz)(xsz)))
A xsz.s(xs(s(xsz)))
A X 2¢(1+x)

(A x. 2¢(14x))5 - 12

(A x.2*(14+x))5

(A xsz.s(xs(s(xsz)))) (A sz.s(s(s(s(sz)))))

A sz.s((A sz.s(s(s(s(sz)))))s(s((A sz.s(s(s(s(sz)))))sz)))
A sz.s((A z.s(s(s(s(sz2)))))(s((A sz.s(s(s(s(sz)))))sz)))
A sz.s(s(s(s(s(s(s((A sz.s(s(s(s(sz2)))))sz)))))))

A sz.s(s(s(s(s(s(s((A z.s(s(s(s(s2)))))2)))))))
1282-S(S(S(S(S(S(S(S(S(S(S(SZ)))))))))))



(a) Xx[x:= N

(b) y[x:= X£y y

() (Ay.M[x=N x vy Ay.M

(d (Ay.M[x=N xxyy! RN Ay Mx-= [ 1]
(e) (Ay.N[x= Az My:=Z][xx=N [ 2]




B ( p. 65)

(A (A x.MN - Mx:=N (A X.X)M > M
(AXy)M- y
(AXAY.X)z - ANy.zZ




(A X Y)((AX.XX)(A X.XX)) > VY

(AXY)((AXXX)(AX.XX)) > (A XY)((A X XX) (A X.XX))




